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13. (i) The area of the region between x-axis, ordinates x = a, x = b and the curve y = f{x)

is
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(i) Find the area of the region bounded by ¥? = 4x, x = 1, x = 4 and the x-axis in the

first quadrant. K]

14.  Find the equation of the plane passing through (1, 1. 1). (0, 1, 2) and (3, 1, 4). )

15. Maximise Z=3x+2y
Subject to x+2y <10,
Ix+y=15,

x20,y20. )

16. Consider the differential equation % +§ =x?
(i)  Find the integrating factor 2
(ii) Solve the differential equation ' 2
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24. (i)
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(iii)

(iv)
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Let f(x) be a function. Then the-slepc of the tangent to the curve y = f{x) at x = a is

given by
@ fa) ®) £(0)

() (@) - @ f@ ‘ 1)
Ify=x—dx+1, ﬁnd% (1)
Find the equation of the tangent to the above curve at the point (2, 1) (2)
Find the equation of a line perpendicular to the tangent and passing through (2, 1). (2)
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